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11A

Section 1 - General Hindi

1)%WWQB&&@W1‘1W&$ 5)‘5&9ﬂ@éﬁ@'w%mﬂﬁm

W%mﬂﬁﬂ’mgﬁm arfi -

e AR G A) §LF T T ST 7T

A) =T B) 2@ fawaT & grq =t a1

B) farg C) %z & T e A gl

C) &rgr D) |Ta < 7 W&l 4@

D) errare
6) "1 TErY WX ATRRer AT R T AT

2) 'TART TH FHTH-HT HT ISR § - AT -

INEEEIIES A) FRFeTE

B) 2% - B) AT

C) sr=refiaTa C) gfeer T sg

D) FHaRT D) FaTATT U1 »

3) RreferfRe # & Fi-a7 qTaTe g e 02 32 711 st forg A

A) T et sg=ee 1 Tea 38+ T ¥ 13wt

B) &1 # 7&T . PR oA

C) e e iR e ST & e uE & SR it qener

D) TUeRE FW § TE T ¢ B AW ¥ sieeerer 4y
st % oY #1¢ srg 7t St lRw e
A T AT F FIE TAT 7L SraT| Wereray 72

4) Terz aTg 1 ‘AT T F fo A 2014 & o g off Regfa s o & ot ey, st

3 arfReT srFTEdt QLT # HEATHE T AT, T T ITHECA T EIAT 98 T A7 w=difg g

o A AT e - AT TE A TN AT 5= qF qg AT ARG
q1fed g1 a9 OF ag q9 ot HHAT J14T 21 39 TFR

A) T 1% ot AT s Ry Rt 7 v

B) ST=TH ATYET FFLUTIO AT 81 I8 AT 79T § UF g

C) Frt FgTE & agl FAT 81 WA, TS "l 97" qF geA

D) shaeft ¥ i gt &1 e e g am s

@ a8 UE agrs o afE 9w § e
fRrzidl quT Fiew e 9 SHaT @9 T&d
frm zae wawd a8 1 TR F 9w e W
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fagfa 3T T WM s of siafer v aggie
el STETAT BT AT ITRY T WA, e Y
AT A T RS & v F sy 1 piew
o % ST S 2 qeg & Xy o awr 2
TF, T AR W T R R, gy
ETATE H T TAT AT 2T A et a7 R
gfReFd g1 mam

7) st o 62 | e Fue

A) B # HeF % IR W A qrar a6t
EEGI(N

B) =TT T |TUeT Sraem<om g 2l

C) == sraw www it areafas agrs @t F
2l

D) fasm =ik 3¢9 T F T U g wiower v
AT F B

8) fAwr # fawant w15 oft Rt srowr amo & it
AT, srehTeT T YA TRl Brar?

A) T8

B) fasrm=r

C) afgea

D) zfder

9) =ye=t 1 frgia fareht aetg & TReega gem?
A) wizw ffor

B) e gt

C) wfa =t frwr

D) sty goi=

10) 31t st STt 3 wereqor 3 Rt ST ST &7
A) Fiew el

B) Stwe ywma

C) Tr@Tsyr fRrgia -

D) SSHT &7 i qedih

11) FFae =gemaTs #ir 3T wx far?
A) TEETHY g

B) e fhora »

C) wfat =t R

D) 31t wweror &7 A

12) "afader, "aRETe ¥ T & -
A) Tt -

B) ¥

C) T

D) T

13) gy 7 T R wm & fog Aot § & |8t
5% AT -

7g Ffaar fordt 21

A) #9

B) 3&

C)

D) fFaa »

14) THFATT aAT A THTEATT T HT Tqd% By
AT R?

A) 3T

S ELIES

C) gaT &<

D) wferd qgwTg STaHt
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15) 'Sare 1 6 fredm & -
A) 3T + wTe

B) Iq + Hew

C) S + HTeq

D) 39 + "o

16)%&%%%3@-
A) argaT -

B) fX & =

C) g aw

D) 9o & wE

17) Faferfaa # & 9 ar it gg=m it
A) = 5T 3T ATt B

B) [ T4 3= 31 &)

C) H=¥ Tgq A< 3M1erT &) -

D) H= 9gd A< 377aT &l

18) WrEweTer wgaat # F @ W iR
FFTEHT gt e 8?7

A) T AT I E=T
B) fRafadifeft
C) fRm a<fift
D) T =TT -

19) "I == i Ieatw Aaferfed o ez & g¢
&?

A) gITg

B) fAferr

C) mifery

D) HIg<

20) TRT ¥ IFAW ATATAT qAT IF ~AAAT H
T Heeft e P srgea § Rar v g?

A) SIT=aE 344

B) srg=ais 346

C) si=ais 348

D) g 120

21) fEY TrweRTer TRORT % siaa o A FW g
A) THHATEHT.

B) wfafsar

C) <R

D) fasmfiar

22) Sgt &1 a1 & F S{ferw arget T TN Ar-ary
T stra &, ag o w/r sgerrdt £2
A) gFHF

B) s+
C) 7w -
D) ATHeETg

zs)ﬁaﬁﬁam%mﬁwm%ﬁqq@
TR g

ﬁ%%mﬁﬁaﬂrqﬁmﬁwaﬂﬁw
aslt el & o £ ’

A) = <t & der gy

B) &Ieft 7 arar sfyery

C) T /AT T w1t e
D) =¥ it 7l arer e
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24) AT H 0 R wr 3 Rr et F 3wy
ez AT -

Tt & A AT Fed §
A) A =t

B) arfior =y
C) TTTSHT =af™e

D) ggTdt =af<h

25) fRaferfaa & B asg &1 a=w wF-ar ag
Tar?
A) et
B) FTaT

C) ==

D) F1

26) TrafaeE et Y AT swreHT [
EERCERERIRIRIN

A) ¥ 1970 +
B) & 1975
C) 7 1998
D) & 1973

27) Fraferfed el & Fa TaTaaT=T e i -
T, T, TAT

A) forar, afa, st

B) #ZTufY, &, FAT -

C) 3HT, qd, 41

D) ¥®, JaT, agq4T

28) 'S 7 Fi-|T ITEH AT 8?7
A)Z
B) faw

C) fas
D) fx .

29) Torafas a3 fEET 1 o wta G A 87
A) T

B) ¥3guT=

C) arferss giX

D) T=av

30) 'HETSHT 5% § I TAL € -
A=

B

C) ¥

D) st

31) 'TAF' =9 HiY-HT 7 IR ¢ -
A) 3t &fYr
B) T &fer
C) 7wt §fer
D) <+ |fer

32) ‘& 9T 1At §I' TH AT H qgrEE AT weady
&7

A) SITdT/
B) ST
C) &

D) &I
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33) 'Y # T YAT T UL FA-GT TAT 952
FA?

A) T
B) Trfg=

C) Tga -
D) Trgraar

34 Fraferft T % o A T AT T
WW@HWWW@

A) e st & 41 -

B et o T a7 R AT A

C) ST S AT F A
D)mqﬁgﬁz’@ﬁ%é’ﬁ

35)'?%*@’“%‘“’6’”‘#%%“55%3&%?
A) FETETH

B) %@ -

C) gftar LTt

D) =gt

36) Praferfr # & et T ¥ T H
A) za et & ¥ we anifd @ -

B) & Tty &  wE 4rifd &1
C)gqﬁ?ﬁﬂﬁﬁﬁﬁﬁ&ﬁmﬁg'

D) za T & # wegr 4 2l
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Section 2 - General Awareness

38) Qutub-ud-din Aibak was the founder of which 38) Fqa-33-417 Uas fad TTTEST FT HEATIH AT?
dynasty?

A) Lodhi Dynasty

A) ST F9T,
B) Tughlaq Dynasty B) .
C) Slave Dynasty C) ol
D) Khilji Dynasty D) fersft Fer

39) Which of the following countries are the T - >
e 2 - Q q-ﬁqz )
permanent members of United Nations Security 39) Frafeifem & & A= THT® R I

Council? AT AT 82

A) India, Pakistan, Sri Lanka, America, China A) T, T, it AT, .
B) Sri Lanka, Bangladesh, France, China, Japan B) sfteianr, v, S, <A, ST

C) France, Russia, Japan, China, India C) 5TH, ¥, ST, i, "1

D) United States, Russia, U.K., France, China D) ¥ 7, &, T, ., W,

40) Which one of the following options is cultivated 40) fRsrferfea & & fFady &dt wwa ¥ 'smae waa' &
as a 'Zaid Crop' in India?

] H FY ATAT 52
A) Cotton A) FITH
B) Wheat B) g x
C) Watermelon C) g -
D) Soyabean D) HraTefie

41) Name the country with which India signed 41) 3& 2er 1 AT Farey s w19 g & T
memorandum of interest (Mol) to supply of milk 2019 # g #iw g Ieurel ¥ wwyff ¥ Rro i

and milk products in October 2019. % 2 (Mol) T2 gEamer far 27
A) Nepal INERIES

B) Bhutan , B) {z=

C) Sri Lanka C) *frefet

D) Maldives D) HTeE T
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42) The "Losoong or Lossong" festival in India is 42) STRa & "eTET AT SET" TETT SATIGT BT A1y
mostly celebrated in the month of December every REaT ¥ &l & HATAT ST &1 g TR AT ¥ firgy
year. This festival is one of the most important T &7 Had AT ATE 87

festival of which state in India?
A) Haryana

B) Sikkim

C) Kerala

D) Punjab

43) Arrange the given rank of the police from the
lower level to a higher level.

A) Head Constable, Inspector, Deputy Inspector
General of Police, Assistant/Deputy
Superintendent of Police

B) Head Constable, Inspector, Assistant/Deputy
Superintendent of Police, Deputy Inspector
General of Police

C) Head Constable, Deputy Inspector General of
Police, Inspector, Assistant/Deputy
Superintendent of Police

D) Deputy Inspector General of Police, Head
Constable, Inspector, Assistant/Deputy

Superintendent of Police

A) g
B) farfa »
C)
B)REIES

43) R ym S F A A swasg a4

Fafed F

A) B Fiea, SEel, YR ST waTE, TETaH/
Iq qiere arefiera

B) 8¢ Fieca«, THF, GETAH/ST lorg areffers,

. qferg 37 wgTfAdies

C) &= e, afirr v werfdier, deey,
qEIAH/IT qiere arefers

D) qferar 37 wer<iers, 3T wieead, S,
HETEH/IT Iiere srefrersh

44) Who among the following is the first recipient of 44) frafafs % & #iw wig ¥ wom GELE: Eﬁ'{ﬂT
‘Param Vir Chakra’, the highest gallantry award in WWW%W@{ 7

India?

A) Major Somnath Sharma

B) Second Lieutenant Rama Raghoba Rane
C) Captain Vikram Batra

D) Captain Gurbachan Singh Salaria

A) FSIT FIHAT 9ot

B) e Sz T wrefa <oy
C) ¥ fawm amy

D) = e g werfon
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45) Which among the following are Nautanki

Raslila, Kajri, Jhora, Chappeli & Jaita of Uttar

pradesh related to?
A) Folk dance

B) Classical dance
C) Folk painting

D) Famous fair

45) I T 5 AYEhT, TAATAT, FAL, AT, ZHAT A7
ST i § & s gafea 82

A) FTFTeT.
B) ar=itg g
C) & et
D) W&z #rem

46) 'The Calcutta Chromosome', is the famous 46) &g =+ ‘T Foider mmEm, Fafefaa 7 9

book written by which of the following authors?

A) Jerry Pinto

B) Margaret Atwood
C) Amitav Ghosh

D) Jonathan Stroud

e s g forar @ 87
A) Y ffar

B) ATI{E TS,

C) wtfeame =7

D) ST 18

47) In which of the following year the major

47) Freferfara fr 99 & st smédt sif=as 2000

amendment to Indian IT Act 2000 was introduced? ¥ i@ Ferrer fehar rar «r?

A) 2006 A) 2006

B) 2005 B) 2005 -

C) 2008 C) 2008

D) 2004 D) 2004
Men did demonetization happen in India? 48) wrTa ¥ Areadl (FRrgdiao) 77 g87
A) 8th November 2016 A) 8 Td=T 2016

B) 9th November 2016 B) 9 74T 2016
C) 8th November 2018 C) 8 4= 2018

D) 10 7= 2017

D) 10th November 2017
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49) Who has been awarded with the Shaurya 49) sFT&r 2020 # 9iF = TG # & qmnfig

Chakra award in August 20207 feparr Tam?

A) Vishak Nair A) farema ar T

B) Major Aman Singh B) #e< a7 g
C) GD Bakshi C) sft &t aw<ft
D) Vishal Kushwah D) faerrer Ferarg

50) What is the number of 500 rupee notes in the 50) Treaat & Tger srferaedr # 500 9T & ATl Hit

economy before demonetization? e fraet ft?

A) 17,800 million A) 17,800 faferas
B) 17,165 million B) 17,165 fafera=
C) 16,196 million C) 16,196 faferg=r
D) 17,000 million D) 17,000 faferae

51) As per historians, who among the following is
considered as the first Sultan of Delhi?

51) gfagrasi  srgare, fAaferfea 7 & f Reft =t
EHAT e T HTAT 1T 82

A) Mahmud of Ghazni A) HEHE TeAET

B) Qutub-ud-din Aibak B) Fqa-33-<1+ Uah -
C) Alauddin Khilji C) AT fRgersit
D) Aram Shah D) srarwerg

52) A device used to measure atmospheric relative 52) aTgseeiT ATYeT AEAT FY AT ¥ T g

humidity is known as: T ATAT SYFTT a2 -
A) Hydrometer A) BTESTHTET -

B) Hygrometer B) arsuiex

C) Lactometer C) @#erfteT

D) Potentiometer D) TrefRergiieT
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53) Which of the following countries did India lay an 53) wa 7 Fwfeed § 7 fiy 390 ¥ AT fiy
" ) T

agreement of land boundary that came into force T% ww=aT far <t = g

py following the exchange of instruments of TelEd i e

F MCE-TTE
ratification in June 20157? F AT N

T2

A) Nepal A) Jqrer

B) Bangladesh ELEIES
C) Bhutan C) ST

D) China D) s

54) Which among the following options is NOT one 54) fRufefea fwedt & & =7 7o wo & Rug

of the UNESCO world heritage sites located in UNESCO # fawg erdtex it # & T Tl 87

Madhya Pradesh?

A) Khajuraho Group of Monuments A) ERT T 95
B) Group of Monuments at Hampi B) g+t TIT<E T

C) Buddhist Monuments at Sanchi C) =i+t # atg TH
D) Rock Shelters of Bhimbetka D) fiwearest & qAT -

55) Which among the following options is referred 55) fferfaa et # & fd W & 7 F &=
as the effective boundary between India and WTHT HHT g STaT 82

China?

A) McMahon Line A) FFHEA @ -
B) Durand Line B) §XUS @1

C) Radcliffe Line C) refs Xar

D) Palk Strait D) 9T SIS HEHET

: Fr TEIT TFAT FRAH F TG
56) Which of the following day is celebrated as 56) RafIfEd # & forr o

F HATAT SATAT & ¢
National Unity Day? # L
A) 21 IgaT
A) 21st October
B) 15 ga< -
B) 15th October
C) 31 3T
tober
C) 31st Octob D) 21 5

D) 21st June
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S57) The concept of Directive Principles of the State

Policy of the Indian constitution has been borrowed
from the:

—

57) W gfae & wsa i Fdaw R
e e & & fae ot e 82

A) Constitution of Ireland A) ITATAE FT GiAET

B) Constitution of United States of America B) ek 1o SAATAT &7 AT -

C) Constitution of France C) Shie T dfaem

D) Constitution of Canada D) FHATST T dfaemT

58) Read the following statements and choose the 58) fsferfera Fa=t T 08 i &t fAweq T4

CORRECT option.

(i) A transformer is a device used in the power
transmission of electric energy and works on basic
principles of electromagnetic induction and mutual
induction.

(i) Based on the medium of core used, the
transformers are classified as (a) Step-up
Transformer and (b) Step-down Transformer.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ji) is FALSE

(i) T STHETHT U ITHT g Forasht STt e =it
& faega afe d=<or # f3r stTar § s e =y
SO SR qTET R AT % g RAgidl 9¢ FTH FLaT gl

(ii) ST FHT 7T T F ATEIH F AT G, STAHTHT
FT () TT-3T ZEETHT AT (b) RI-ITIT ZTEHHT
& &9 H i AT SraT 21

A) (i) TET & 3 (ii) &t &

B) (i) WY & 3 (ji) ety §
C) (i) T & 3% (i) 7EY &
D) (i) Tora & S (ii) rerar &

59) The currency of Ethiopia is
A) Dollar

B) Shilling

C) Taka

D) Birr

59) SuTTaaT fit T 47§72
NEs

B) farfer

C) T

D) fat
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60) Which of the following districts of Uttar Pradesh 60) T 2020 # IT %97 HTHIT FIT ST AFET F
contributes maximum in state GDP as per the data saTe 3w weer ¥ frafafed # & fr G, =T

released by the government of Uttar Pradesh in St # sfiraas Fvrar 24T 22
March 20207

A) Noida

A) TrTET
B) Lucknow B) TETS
C) Kanpur C) R
D) Agra D) AT

61) Which of the following category of officers get 61) 3 qfer wfRwerr st (CAPT) # fraforfe
basic training in Central Academy for Police # & fiwr 3oft ¥ srferevreat v gffamay srfererr EERL

Training (CAPT)? g7
A) Group A A)TTA -
B) Group B B) 77 B
C) Group C C)gwC
D) Both Group B and Group C D) 77 B 3 I C AT
62) The capital of Argentina is 62) ST FY T TAH F F 41 77
A) Buenos Aires NEEEREE
B) Bahrain B) agde
C) Brussels C) gaew

D) Botswana D) ArcaTT
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63) Which of the following bodies replaced the 63) ATAATIHRTE SYIEH FATAT (OHCHR) 3 20063

i F & e '
'‘Commission on Human Rights' in The Office of the T fRraferfaa & RERCE R L Ci .
High Commissioner for Human Rights (OHCHR) &I oTg A1?

during 20067

A) Human Rights Committee A) wTETTErERTE AfAfT

B) Universal Periodic Review B) aTawITA sTafer qHie
C) Human Rights Council C) WTAATIERTT qiug o

D) Committee on Economic, Social and Cultural D) srfefer, wrATioT ST HiEHiaF Aferry w afyfy,
Rights

64) Which of the following country has first 64) Faferfed & & O 2o F @ vz shoadt (GST)
implemented the GST? i faRar?

A) UK A)TF -

B) Canada B) FATET

C) USA DR LAY

D) France D) e

65) Who was the leader of Tana Bhagat movement 65) 1913-14 & gU a7 STt Sfidrer ¥ a7 #1797
which took place in 1913-14?

A) Jaipal Singh A) ST fig

B) Sukhdev Singh B) {f@%ﬂ' ﬁl‘g

C) Jatra Bhagat C) STa<Tr W

D) Mahipal Jagat Rana D) \fguTer st 7o

—

66) Which of the following countries signed an 66) wa®t 2020 smeEer i T F A
agreement with India to upgrade the 50.58 50.58 fiftex ot TEF Ty G F e A

kilometre long road between Ashuganj and the s=ery 5Ly ﬁgﬁ-@-ﬁ Ny g ey g F 99 @
Akhaura into a four-lane highway in January 2020? #9=fy 1 TEITER favgro

A) Nepal A) A9TeT
B) Bangladesh B) aiverrer
C) Bhutan C) =

D) Myanmar D) &Y
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67) In which of the following years the Human
Rights Council was created?

A) 1946

B) 1948

C) 2006

D) 2017

67) AratteeFTe aiteg Rafafe & & fmg ad # wfed
ERIRCIE

A) 1946

B) 1948

C) 2006

D) 2017

68) Which of the following options is NOT one of

the official languages mentioned in the Eighth
Schedule of the Indian Constitution?

A) Persian

B) Sanskrit
C) Kashmiri
D) Santhali

68) Freferfa # & # ot sy siredg a@fam Y 84t
St # Sfeafra s wrarst § ¥ g1 82

A) HTCHY*
B) &g

C) et
D) &reit

69) Which of the following is the higher authority in
the 'Revenue Department'?

A) Revenue Secretary
B) Revenue Council
C) Consolidation Commissioner

D) Relief Commissioner

69) Fraffm & ¥ w1 e R #1 SEae
R 27

A) Tores g

B) TeTEd UiuR

C) =eal A<

D) TTEd M

70) 'Nilgiri Khapli' is a high yielding variety of which
of the following crops released by Indian
Agricultural Research Institute?

A) Rice

B) Tea

C) Mustard

D) Wheat

70) R @roet’ AR FY AgEET §8 T gRy
st et waat § & e, ©F 97 o anly
e 32
INEIEET
B) =4 »
C) Tzt

D) 7g

“Page 15 of 48
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71) After the border clash between India and China 71) 3 2020 AT &< Sinkd aﬁ%r HIHT H9 ¥ 3ry
in June 2020, how many Chinese apps were T g HiE gl W‘W o .
banned by the Indian Government citing national ST<@ HTRIC arar e S 00 S SN0 S
security and privacy concerns? T

A) 11 A) 11

B) 27 B) 27

C) 59 C) 59 *

D) 62 D) 62

72) Read the following statements and choose the 72) fraferfd FuET #1 78 X SEREETS K51

CORRECT option.
() Bobbili veena is a large plucked string (i) afarsit =tom Ftes emefta @ifta § e

instrument used in Carnatic classical music. ST ATl U geq =T 9T ag arerd T gl
(i) Bobbili veenas are usually known as ‘Ekanda (i) ST o FT STEAIR 9T "TEHST AT F FTH
Veenas' as they are made from one single piece of ST SITdT § TR ¥ Tt ¥ TF ghe ST S0 8l

wood.

A) (i) is TRUE and (i) is TRUE A) (i) ST & 3 (i) TRT &
B) (i) is TRUE and (ii) is FALSE B) (i) @t & 3 (ii) Td &
C) (i) is FALSE and (i) is TRUE C) (i) TTera § i (i) ¥Rl &
D) (i) is FALSE and (ii) is FALSE D) (i) e § S (ii) T &

73) AT qER T ST AW W AF F Ied@

73) ‘Prohibition of human trafficking and forced
AT " & wifers srferd it fa aoft # fr

labour’ is mentioned in which category of

fundamental rights of the Indian Constitution? TAT§?

A) Right against Exploitation A) siar & faeg sfdsr

B) Right to Freedom B) T&rd=raT #T CIDETES

C) Cultural and Educational Rights C) wepfar s favey gaeft arferame
D) FHTAAT HT ATAF

D) Right to Equality
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74) The tenure of independent experts of human
rights treaty bodies is

A) 1 year

B) 2 years
C) 3 years
D) 4 years

74) T @ faE % e A
FTAHTer fha aut FT AT ?

A) 1ad
B) 2 a9
C)3ad
D) 4 a4

75) How many Central Detective Training Schools 75) ST # fofaer #T TH=T srfRveror férermer &7

are there in India?
A)3
B) 5
C)6
D)7

A) 3
B) 5
C)6
D) 7
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Section 3 - Numerical Ability

. : : 2 2,100 ¥ 3
76) If 4 chairs and 3 tables cost 2 2,100/~ and 76) af¥ 4 FfaaT ofix 3 FSt 1 Tf';’ = ;:;'z
5 chairs and 2 tables cost  1,750/-, then what is 5 et s 2 #sit &1 gea X 1,750 &, AT UF

the cost of a chair and a table?

A) Chair = % 150 and Table = ¥ 500
B) Chair =% 100 and Table = % 200
C) Chair = ¥ 500 and Table = ¥ 500
D) Chair = ¥ 500 and Table = 1,500

o frr v T 27 .
) T = T 150 3T #i57 = X 500 oYLt IM=>

g < ¢-2H =Hye
B) ¥ = % 100 < &7 = % 200

1S M = It S

C) FHT = 500 3T A% = T 500 8M = Yo

S

D) 4T = % 500 3 s = % 1,500 M = 35
G

ISy

77) The LCM and HCF of two numbers are 252 77) &1 &@aTeii & LCM 3T HCF e 252 3% 18 &

and 18 respectively. If the difference between the afe Heareit % fi=r &7 =iq< 90 &, T HEITI HT T 7
numbers is 90, then what would be the sum of the grr?

numbers?
A) 180
B) 162
C) 126
D) 138

M
N
A) 180 ‘(e
\B) 162 13
C) 126 —>
D) 138 | ¢

78) A person crosses a 455 metre long street in 78) us =% 35 e § 45

35 minutes. What is his speed in km/hr?
A) 0.95 km/hr

B) 0.78 km/hr
C) 0.62 km/hr
D) 0.52 km/hr

5 H1ex <t T2 g1 Fqr
HAETH Hﬁa%ir‘ﬂﬁﬂﬁwg';

A) 0.95 &Y, wiy 5 9

B 0 B x w

B).0.78 fFft, ufey s <ol S

C) 0.62 fmft. wfy = e :%é’,
2

D) 0.52 famft. ufy &

79) What is the value of 1.25 x 0.05 x 0.0004?
A) 0.25 x 108

B) 2.5 x 103
C) 0.25 x 104
D) 25 x 106

79) 1.25 X 0.05 x 0.0004 F7 7T a7 27
A) 0.25 x 108

B) 2.5 x 103
C) 0.25 x 104
D) 25 x 10

<, V%

R tcostv
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80) T S
) he HCF of 4052 and ) e
A) 4 12576 is T ;
12576 %1 H.C.F. (wgerw &aTaac®)
B) 9 ny i
D) 148 w2t
C)12 i <17 .9 '
D) 148

o d points of g, - 81) ABC  wrest s 3, Rrerd ot 4 2t 1
and CA respectively, thep, wh oS AB, 81w it A, e, CA% we fiig wwer: P, Q, R §
area of triangle PQR? 7 would be the L

AT PQR BT =57 ey T T2
A) V3/2 cmz rs
B) V3 cm? A) V312 cm2 ‘ ’ N
C) 2v3 cm2 ' o
oy o C) 2v3 cm?
| D) 3v3 cm?
82) The value of (5(2((2 (2-4
- 4)2+7)+3)-1)2 s €qualto 8
2) (5(2((2 - 4)2 -
A) 15276 ( (df) T
o A) 15276 8
176
B) 15176 e
C) 15
—_— C) 15376 L
- D) 15476

83) If the average of two numbers b and 4b is 10, 83) af% a1 H&TaH b i 4b =7 AT 10 3, ¥ ‘b’ =7
then what is the value of 'b'?

HTT T 82
A) 2 A) 2 (¢ — Hfib
B) 8 B)8 2% - sb
C) 4 'C) 4 @
D)6 D)6
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rks and gets 192 marks 84)'A", 67% i STH T & ST Itof it it qormm
arks while 'B' scores 27% 192 3% wfe 3, STl ‘B, 27% 3 FTH FAT g, o
marks. What is the pass ST 48 @i & ¥ & SITaT & qer § SO g Ay

S T 7 . 7,"}{
A) 210 sF° w s>l
B) 320 W _?jzd‘m

C) 440 q"\':‘} A
D) 550 "\ i}

\ sum of ¥ 16,000 in an 85) g TF TeAfAFY H T 16,000 FT fAaer LT &,
ms annual interest rate of S 10% Y FTTF sqTST & ATATT FHG (g & € § dl
annually. What will be the &1 3 % siq & gter % gy sma iy fohat gRil?

arish at the end of 3 years?

A) % 21,000 iere X 13%)
/‘_—_——'

B)%21,296 =T )

C) % 23,296 92 294 %

D) ¥ 24,500
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Section 4 - Mental Ability

86) The v - | .
oot o thenn diagram mentioned here gives a 86) 7gf Ry Y 3 k@ # TF T s & AT
© Number of students who Participated 3t amar @At it dear 41 Rt & wE ) I PIERIRCH

n a sports event.

conducted in th There were only 4 sports 3 Sre 4 & TR fr T 1 7 e 4 @ A,
- de event. The distribution shows the B ¢ 3w D ¥ ST o0 aTer ST $ T Y 9T g|
Students who partici . ?
pated in 4 . . 2
B, C and D. Baseg Sports A, 3 s F o 7€ SHHITRET F swa 9T A =Ry

on the information given in the T T 39 STy

Venn diagram, answer the question given below.

o et ¥ w2 a9 § wnr e

How many students participated in atleast 2
sports?

®
b
J

A) 11 e
A) 11 . 2
B) 29 C) 30
C) 30 D) 40—
D) 40

87) What is the missing number in the series 5, 15, 87) 5, 15, 45, 135, ?, 1215 #j@e ¥ srqufead g

45,135, 2, 1215 -4 §72
A) 275 A) 275
B) 325 B) 325
C) 475 C) 475
D) 405 D) 405

Page 21 of 48
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1S e & ST ATP(T AE-AT &P [T Ry
fagedl (Answer options) # T g I iy
sir 1 ¥ et # & 3fera Iw U]

?

ANSWER OPTIONS

@ €

A)a
B) d
C)c

Db

onsists 89) fder - o7 # wF Fuw ol IuF & 7F, | s Il R

arguments numbered | T ) T9HT 75 77 AT § B R 10 99 #F F F-ar
zh of the given Th AT ST FIA-8T T FAA 21

argument is weak

FUT : FAT IUAT F AT I FT A=) o e
jraduation be given ¥ ST =RY, TfF I sro wfdrey & wrftres sporerar &

o manage their wealth & T e FT 74|

E

I g, ot BTt § gersa fAeftw gawe #rerer 6 #4181

lack basic financial II. T&l, 5/ fo Frfeea, Frge i e & g off fa<fta

skills, e Freret # 3 €

& arts students are good

1. ¥ T | A9 &
2. Fae a9 || A 2l
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3. Both arguments I and 11 are strong. 3. 1 3T |l ST T A9gd ol

4. Neither argument | nor argument Il is strong. 4. AT TH | S & a1l wega 8
A) 3

A)3
a4 B) 4
o1 C) 1
D) 2 o

90) Given below is a statement followed by two 90) = T Fr 3T IaH & LALLM e I
assumptions. Choose the answer as T T H AT -

A, if only assumption (i) is implicit in the statement. A, Tfe T % Faer g (i) Figa 81

B, if only assumption (ii) is implicit in the statement. B, o e & aer gaemom (i) AR 2

C, if both assumptions \(i) and (ii) are implicit in the C, 7f¥ o (i) = (ii) Tt gEETeend [AfRa €

statement. D, af #w # 2T & qdaromt RfRa w8t &)

D, if none of the assumptions are implicit in the

statement.

Statement: AT : ZH 24 H 18 I i WY I UgAT F 91 0T
People can vote after they reach an age of 18 in #ae™ FX TFd gl

this country.

Assumptions: TEET

(i) There was no voting procedure before (i) Tt ¥ TR FE AR GiwAT TEF o
independence. (ii) 18 = =t sy § waaTar fft =af?e 1 9 T F A

(i) At the age of 18, a voter can maturely decide on # wfegaT & favta & weht &1

his casting of vote to a person.

A)B \A) B
B) A B) A
o) C c)C

D) D D)D
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are facing east. You turn 100° in the 91)mﬁaﬁr3ﬁTﬂ°€W@§'§l ara Zferorrad o
se direction and then 145° in the anti- 100° &< e ATATAA e & 145° T &1 o1 o firy

A) I B
B) T =2 7

) North-East | C) Iq-T

D) South-East D) afRrr-d

92) 50 litres of water is poured from tumbler A into 92) 50 sfiz% ITT &7 F@T A & ZF=? B § ST SITaT
tumbler B of which a quarter of it overflows. What is &1 =/@X B ¥ < % 918, SHH & UF ATATE T A=

the capacity of tumbler B? g 14T 2 TFe B i erwar faet 87

Ay 37.5 ftex p° ;‘g £ .\
A) 37.5 litres B) 30 #ffex o
B) 30 litres
C) 25 litres e
D) 12.5 litres D) 12.5 wfteT

93) Which of these words given in the options can 93) fa@eat # faT 7T oreai # & F9-aT 922 D, E, N, A,
be formed by using the letters D, E, N, A, |, T by |, T &< & & &=l off srerw &1 s off ae s

using each alphabet any number of times? T AATAT ST qhalT 27
A) DETAINED ~A) DETAINED

B) DETERMINE B) DETERMINE

C) DETENTION C) DETENTION

D) DEFENDING D) DEFENDING

94) Select one of the following four options that will 94) Fefafea = Revedt # & us F1 w77 Fifom, o7
make the second pair analogous to the first pair. ST A1 & T et gt ¥ wwey g -

Circle : Circumference :: Polygon ol el : THFBLAT & G ¢ 2

A) tfaftex
A) Perimeter B) aieqd
B) Volume C) ufar
C) Area .
D) Diagonal D) ST
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Section 5 - Mental Aptitude

our is spying 95) ST 1 o9 & o Y et g TR # R
Ngs she could %Wﬁ%ﬁmﬁﬁmmgsﬁﬁq@m
are missing in TehelT off, tﬁw_t‘raﬁwmmgmmm
Some one has T W T & S 3w Ay e -y qar an 99
Y- What shoylg AT FHTAT F1fRU?

A) Test for mail tampering anq ys § A)SFE SEars ft wtw 3T sie of erEaaR &
€ anti spyware, ST F7|

95) Geena SUspects that her neighb

on her becayse she tells Geena thj

not have known, SOme of her mails

B) Go and Complain to the

police angd have the oo & st f T TETET A1 T
neighbor arrested. e N 9 A
| FETT)
C) Start spying on the Neighbour in response o C)38% 30 =1aeR ¥ T § = & STt AT
her behaviour. I FX
D) Accuse the neighbour of SPYing and threaten to D) 7ErY 1% STt T FT AT T i w7 pail
do the same. B FT I gy 3

96) We belong to different communities but have 96) gw fAfi TEET & qF § e THH T T
certain  common qualities. Given below are A ¥ 4 o Ry & ST et § §)

4 qualities that communities have. Which of the FRafafea & & fim-ar T UF =31 G99y i
following qualities help to create a good HIZ FLAT §?

community? THIT & 7.

The community members... A) aﬁm%aﬁﬁﬁaﬁﬁaqgﬁﬁﬁmﬁmﬁl

A) work towards goals prescribed in their own B) TFT ¥ Wy fAftey AR-Famsit e R
religion. ST HATU

B) celebrate different customs and traditions in C) A7t Fret-arat 7y TT &, T 5 I r—
unity & e

C) should maintain their own food habits and not D) 37 He=IT m T, TR W e
intermingle. LU )

D) discourage the members from openly T GAFL 4T X g

discussing issues that relate to the community.
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97) In uncensored or self-censored television 97) famT #a¥ fHT T AT w=g-Fax e U iy

programmes there is a very high rate of violence FT#HT # fgar #T T Fgd wfer Zret &, ST A gy
depicted that may not be appropriate for children. 3 forq Sfar & &1 &gt #1 &7 ST SIS T LT Ty
Children should not watch these inadequate =TfEuI & frafafad & & 3 Fars & TF a

shows. This can be prevented by which of the TqehaT 87

following actions?

A) Government must ban all
watching television.

B) Parents should sensitize their children about
impact of onscreen violence.

C) Children should watch television only in the
presence of their parents.

D) All television producers must be allowed to
produce only child content.

children from

p) T F Al agt A e @ & de

TRl

@}@ﬁ?ﬂﬁ@%aﬁmﬁﬁm%m%aﬁﬁ
HTaT-FAT T ST ag i hy FHATAT AR

C)agi #r ¥awr aww wn-fyar i sufeafy F
Feftfa @t = 1R Ul

D) e+t ¥ffaew fmfarstt &1 Faw amer SwErEf
frorgaegat #1 Ao w2 it sgafa & st =R

98) Sheetal has gone for movie with her family
when a group of college going girls come and sit in
front of them. The girls misbehave in the theatre.
They are talking in loud voices and have their

98) sfiqer s iR ¥ ary frew T@w o ft 7@
e i wEfrat #1 U TE S AT s 3w
#1 @it Rroex # gofagm w<cft #1 ¥ 3w s #
AT A T A S T o s el #1 B

mobiles switched on. Both the noise and the lights ¥ T X =@ze IMT & oftaer sic sg% TRaR #1 E

from the phones are upsetting Sheetal and her
family. What is the first thing she could do?
A) They should make more noise than the girls

are making to stop them.

B) Ask to see the owner of the cinema and

complain to him.

C) Look for an usher and complain to him about

the girls' behaviour.

D) Bend over and request the girls to switch off

their phones and not talk.

TR BT TET 81 TRt =T a8 F4T 92 Tt 27

Scanned with CamScanner

pPo:

ex:

- A) FEfET T A9 F O 9 5 afdre ofe g Pre

aT%q,ﬁWQﬁTasﬁ:ﬁm@g. thay

B)W%Wﬁﬁﬂ%%ﬁqﬁmmNas

IREIR G rof

C) T FT S rar A AT At T
T 399 formaa w31 .

@@WW%MW%MWWB)A

AT T A T AN T t‘:'

:)Re

Sct

))Fin‘


http://www.prepp.in/

11A

99) In India pypjie blam

following things EXCep

—

e t :
he Police for 4 of the gg) mﬁmmﬁﬁm@ﬁm.

A) Public indiscipjine 0: the stregqg i %ﬁ_\;ﬁ % fore gl i Sy sl g:
B) Traffic Congestion On the roadg ! quﬁaﬁ? -

C) Shortage of drinking Water Supply Bl W.Eﬁ ”

D) Law and orge, Situation i, the city Sg;::::i:{;*in i feafay

W' . \
with regards to the e o:::WS t::eme"ts B Lo T ——— L
. 7€ Principle that 4 - reamt
PeoPle  and instityfigyg T sutjoct 1 all e %,. T Rt & i aﬁwr I HeaTt e F
accountable to ay- aNd e § sh s 1 ey &2
A) It generally Prevents the arbitra
Use of power, ) TR ST < o 35 Wty rdver ey &4
B) It does not discriminate between pepye B) w5 it e et g
) ﬁama AT Bl
C) It checks the abuse of power b :
Y those in C :
authority. )‘TEWWWQ?%Wﬁng
IP"HE‘E' ﬂliaaﬁltm |
D) It empowers i di
) kpd : Ndividuals with rights that can be D) R ey T wftr T d = s & w
revoked easily. = 3

101) Grant and Randy strongly Compete for the first 1 T ; [

position in their class. Randy cheated in the final Zzar ¥ whreges T
eXxam because he knew that he was not fully ]

Prepared for the exam and is likely to score less TR ¥ T 9T 3 Tie 6t spdyey T F Y
than Grant. Randy scored more than Grant and e ¥ e w1y s T
@Tmmﬁm%ﬁqﬁfmﬁwﬁl Hram
ﬁﬁﬁﬂﬁ%aﬁ%ﬁ?-ﬁmﬁsﬁmﬁw

Was recommended for a scholarship by his
Professor. Which of the following actions by Randy
Will gain him respect in the eyes of his professor?

A TR T Ry
A) Accepting the scholarship deserved by Grant.  A) By #t =i wwm ey T iz ar _%l
heated in W%m%m%wﬁw&mﬁ
B) Admitting to the professor that he c _
arEaTsit £
the exam. N .
C) Reasoning with his professor that the C)s3m ‘fﬂ?;’( qrT ; gy
i |
Scholarship was important to him. Hgeaqet

. aTfaT 7 ¥ 7% ST
D) Finding ways to prove to the professor that D) ﬁw‘ﬁ F AT T -
i e AT T <
Grant also resorts to cheating. HTEETSt T HET

.
19 27 of 48
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102) Brian is on his laptop at the office when the 102) & i gareft a9 & forw emdt & & My
police come in to carry out a search. Which of the FTaierd & e AU 9T EIT gl mﬁmﬁ%
following would be a reason to snatch his laptop? T TF HIWT AT # & FF-91 gAT? T

He is A)m-mﬁwﬁzm%m@ﬁmw
A) working on a confidential Excel spreadsheet to Breefte 7 FH F @8
submit to his boss. B) T Qifew HIAST FT el 3T @ T Hify
B) watching the last scene of a romantic comedy Ig I I ELEA
as it is his lunch break. c)aﬁﬁﬁ&ﬁﬁ@ﬁﬁmmﬁ
C) showing his colleague the photographs taken fRarwrsl _
at his brother's wedding. DT JaaTEe F FT T QT 8 S ATH e

D) checking out a website that gives you tips on ST &A1Y F fEo It B

how to make an explosive device.

103) Aruna realised that her neighbour's kid who 103) SrEUIT 1 TgaTH gam f I&+ Grdl &7 agr 3
comes to play with her three-year old daughter is &t S &Ter $it & F 7T e ¥ g s 87
deaf and has faulty speech. Which of the following =fa< & i< IHaT arary it g1 srevm Hit Fafefea &
actions by Aruna would be considered as sensitive {3 T gIRT S& 9 9= F aF & wid dagadh

towards her neighbour's kid? HTET STUIT?
A) Aruna requested her neighbour to take their kid i\)}'@n T AT TSI F uw g & oftw R d
to a speech therapist. qTE & SO T Ay Fm)
B) Aruna treated her neighbour's kid as she would B) 3r@vrT 3rq# TTelY % oy & w1 34T f FagR ad
treat the other kids. © ST 98 97T 91 F qTY F
C) Aruna kept her three year old away from her C) 3@l & sra €W a9 & T F¥ srow qret Y 38
neighbour's daughter. K@
D) Aruna thanked god for making her daughter a D) 3rvrT T At FE Ay TF 1T 99T a7 F fol
normal child. WRTETA T ST sreT faam)

Page 28 of 48
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104) Venu is an absolute vegan - the practice of

spstaining from the use of apjmg products,

particularly in diet. He married Susy who is fond of
meat and chicken. Which of

statements confirms  that thejr

the  following

relationship s
unlikely to be affected because of different food

preferences?

A) Venu insisted that Susy must give up eating
meat and chicken if she wanteq to live with
him.

B) Susy often picked Up arguments abouyt not
feeding their children meat ang chicken.

C) Susy never cooked meat or chicken at home

and Venu did not insist that she should sto
eating meat.

P

D) Venu refused to eat anything cooked by Susy
and preferred to cook his own food.

104) 3y qof & ¥ i - 7 =R oY g ST F
ST | IR AT, R e & gy Iamer F
ST & T A FY A ga gl & o i S
A S foreper i st &) Rrrforfye & & Fr-ar w0
AT AT g e § B arer st £ A
%ﬁmmwawﬁa@%aﬁﬁmﬂﬁﬁ?

A) T a1 fr fis s o s e e AT
Gﬁﬂwﬁﬁmaﬁrﬁww@gwaﬁm

B) Tt s e argt A1 e e Rt vl Ry
& I T2 FCT ot

\%ﬁﬁaﬁsﬁ%ﬁwqrmmﬁmaﬁmaﬁr
A SR A et 3 g i wn e acdy

D)W%WWWWW%ﬁEﬁﬁWW
ﬁmaﬁrmwmmm%w

105)

equality and is known for championing inclusion,

Samuel is an ardent Supporter of gender

taking initiative, and driving social change. He has
been appointed as the convenor of International
Science conference to be held at Geneva. He

drafted a code of conduct for maintenance of
gender equality in this conference. Which of the

following are unlikely to be included by Samuel in

this draft?
A)
B)

Treat everyone with respect and consideration.
Be respectful and mindful in your critique of
ideas.

C)Respect the rules and policies of the
Conference.

0) Communicate thoughtfully only with male
Scientists.

105) ﬁgm%mmmmgmw
HHETAL T, G F, SIS EC e e
Wm%ﬁqugnwﬁﬁmﬁa@ﬁv
B AT SRig e e 3w ¥ w7 F
e v s &1 et < e 3 SR m
W*ﬁvwwﬁmmmwwgl
ﬁwmwnﬁﬁﬁmﬁﬁ%ﬁmﬁ e
o ST i v =t 22
A)mﬁ%mamwaﬂrwﬁﬁsm@
Bmﬁﬁaﬁﬁwmﬁﬁ:ﬁasﬂrmlﬁn

C) wHer 3 et o il v vy o
D)mwamﬁﬁ%wﬁ?-wwmﬁ

\
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106) All of the following duties are performed by 106) FETd e e g faffEe @ o g
ArgF<, a7 at FeAT 1 qTe T S Y

A)ésﬁﬂmﬁmﬁﬂwaﬁﬁwmw

Government Railway Police EXCEPT:

A) Maintenance of law and order in passenger
trains halted at stations FqTT @Il
Bt w ATl =rfrat & e AT
C) wrewht &ix 3 fede 1 Fr FLI
D) Sror qfa ¥ fia< st Frarard F [{E F

B) Removal of bodies of persons who die in trains
C) Checking platform and train tickets

D) Control of passenger traffic within station

premises

107) Which of the following is NOT a universal 107) FrerferfRrg & & FI-aT T arawiaE bard CE
principle that all people and institutions are subject & Rrad fy AT ST HeATT W ¥ orefier & ol S9h

PIEEEICECEY

A) Laws are clear, publicized and fragmented. A) T &8, TR A @i &8l

B) The processes for enacting laws are B)#®I{T T ¥ i gerw, fFAoTer i Fae 2
accessible, fair and efficient. C) =T W& 0T AT gfafafer g gt smar g1

C) Justice is delivered by competent and ethical D) T S FAsft FeATHIT FTA ¥ qgd STATaE 8

representatives.

to and accountable to law?

D) The government and private actors are
accountable under the law.

108) Samuel prefers to work by himself. He is not a 108) (et =4 FTH FTAT THS FIAT €| IY gEL A
people's person. He is averse to writing e-mails. F AT FAT =T Al AT Y 3-9F forgem e

Samuel is likely to be successful TN Eegerer 3 zwa 2 s
A) in human resources, and staffing A) AT GHTE A w0
B) et &1 % wrefers % v &

B) as a manager of a team
C) in managing social media C) gverer Wi F waua §

D) in jobs which require one to one interaction D) U& F9r s wedeh & STeAT-Ae T ara=ia i
ATFLTHAT BT Bl
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109) During @ major fire out break in a public area

the police are responsible for all of the following
EXCEPT:
A) Protecting bystanders at the location

g) Protecting fire department equipment
C) Rerouting non-emergency traffic away

D) Helping the photographers to click photos

—

109) TF qrawi® & § srraeh ftQor T T &
A, IR T & W O W e o o ¥ R
e g

A) FEATEI & SATEITE @ F T GET FATI

B) srffterarar forerar 3 et Y e v

C) IR-saramTelinr & A q: swafor wm]

\ D)y e e e & wrEnoR i wew wm

110) Rita wants to take a loan from a bank. Her
bank is NOT required to provide which of the
following services?

A) Offer assurance that her information will be
kept confidential.

B) Inform her that she will not be discriminated
against on the grounds of gender.

C) Receive clarification and transparency in the
documents issued.

D) Sell products that are beyond her

requirements.

110) &1 &% ¥ w0 AT A Y wws dw @
fRefeier & & et v Far e w0 6t s
T 2?

Q)W?ﬁwmm'&‘ﬁmﬁnrdhﬁwwéw
- B) o % e o 3w wryy dawm w6 By o &
I H g FeAr
C) st fag 1w swarasit # wqdiser s qreafitar
T AT
@@whwsﬁwﬁm%ﬁ-@
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Section 6 - | Q Test

111) Ganesh is the brother of Neeta. Sonal is the 111) Trover AT FT WS §1 A FOT AT TR E iy
Rita and a7 3T &1 Tar ol AT we & q i wreh

sister of Sandeep, who is the son of Rita.

Neeta are siblings. Sonal's aunt is 87
G N
A) Rita A) T
B) Neeta B) e
C) Ganesh's mother C) worer it AT
D) Sandeep's wife DEEREIRC

112) Ravi is 7 ranks ahead of Sumit in a class of 112) 39 T i Fer & T g & 7 I W 81 Al
39. If Sumit is ranked 17t from the last, then what Gfd & & 17 F wama o< &, &1 W &7 IF w7 7

is Ravi's rank from the first? AT 872
A) 14 A) 14
B) 15 B) 15
C) 16 C) 16
D) 17 D) 17

113) What comes in the place of question mark in 113) & T sEer § w7 T & w1 9 w=r are?

the given series?

BAT, BET, BIT, BOT, ? BAT, BET, BIT, BOT, ?

A) BIG A) BIG
B) PET B) REY
. C) BUT

D) BOT

D) BOT
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114) In a certain code,

What will be the code for “lugi">
A) 'together'

114) v fAf2ra %< wrar #, [rini miki suki] F7 [we are
together] & =q # ferar ST g |

[miki luci pinci] #T [all are different] % &9 # for@T
SITAT &, 3% [suki luci deni] #T [all get together] 3 &7
% foraT ST 3

T "luci” ¥ fore e == grm?

A) 'together'

B) ‘differant B) 'different

0)'ger C) 'get

Al D) "all
m 115)4563ﬁ?204mHCmewmaﬁ$w%?
A) 6 A) 6 'C % 24

B)8 B) 8 28, 17

g) 12 Ej12

D) 24 D) 24
116) If today is Friday, then what day of the wee

TS qHTE FT i
will it be after 98 days? a1 fe7 grme? :
ag
A) Sunday A) T
B) Tuesday B) wrerame
~ C) Wednesday C) Teramx
D) Friday D) T

- . *—-\
117) Which is the odd one out among the four 17) = fasett & & R g

8?

Optiong?

A) ##$
A) #49

B) #$#

C
©) i ) -

D
D) & )
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L AAN Ay
F e AT THFT & AT AN (A upy
118) If A and B are two sets, then A " (A “B)’ 118) 71 A ST B )

equals : FaEy:

A) A A) A

B) B B) B

C)® C) o

D) A' D) A'

119) What is the unit digit of 191447 119) 19" T AT IT THTE 3 7T 82
A) 8 A) 8

B) 4 B) 4

C) 1 )1

D)6 D)6

120) In a certain code, if DESK is coded as DEAB, 120) t fafara % # DESK %t DEAB forat wrar 2,

then what will be the code for PROD? T 39 F€ § PROD i & forar srum?
A) GFID A) GFID
B) GDIF B) GDIF
C) GIFD C) GIFD
D) DGFI D) DGFI

121) Which of the answer figures will complete 121) #¥ ft 39¢ ST FET Sy § & T rRfaay it
the figural series given in the problem figures? GAT T T FE?

Problem Figures Answer Figures LR "f@ﬁ g Wﬁ'

A) A e A) A
B) B B)B
c)C C)c

D) D p)D
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122) Which i
) S the odd one oyt among the four 122) =¥ faseqt # & fauw w7 @187

options?
A) #8%
B) #6$
C) #4$
D) #32

A) #8%
B) #6$
C) #4$
D) #32

123) An old man walks towards East and then 123) T a1 =afen o i e AT & A <faror 1
turns to South. He then turns to his right and starts 9 qEaT 21 77 fFe s Tt AT HEAT Bl

walking. In which direction is he walking now?

A) East
B) West
C) North
D) South

STAT 81 7E o T fe # F @I R?
A) T

B) wfarT ::]

C) 3
D) =faror

124) Arrange the words given below in a

meaningful

1. Indian Passport
2. Flight

3. Immigration

' 4. World Cup

5. Century

| A)1,4,3,2,5

B)1,324,5
C)3,2,1,4,5
D)1,2,3,4,5

sequence.

124) 3 R T oz A1 AT ST # AARAd F

1. ATCATT qTHITE
2.3

3. sTyaTEd

4, frasy

R GETD

A)1,4,3,25
B)1,3,24,5
C)3,2,1,4,5
D)1,23,4,5
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114 /‘_‘
+ afx PHONE 1 FRSLQ ¥ &

125 ; e
. ) In a certain code, if PHONE is coded as 129 ™ fafa= s e NUMBER & ferar
RSLQ, then what will be the code for NUMBER? ¥ e T T &
STET?
A) OVNCFS A) OVNCFS
B) SIFQYO B) SIFQYO
C) LVNCQSs C) LVNCQS
D) QDBLTM D) QDBLTM
B EE L
126) Which of the following options will make the 126) fraferfea J q I qEDRE
second pair analogous to the first pair given as: ST F FHET A
FHJIL ; CEGI FHJL : CEGI
A) LNPR : IKMO A) LNPR: IKMO
B) ACEF : GIKL B) ACEF : GIKL
C) HQRT : FISX C) HQRT : FISX

D) HJLN : RTUW D) HJLN : RTUW

en below, how 127)#%%%%&&1’&%&1@31%@3?1‘{%%

127) In the series of alphabets giv
ween the 3rd ST 3 T A & = arerT F <= 7 FRaw e €2

many alphabets are there in bet

alphabet from the left and 4th alphabet from the

right?

AHKLMNOPQGSZNTUV AHKLMNOPQGSZ/NTUV

A) 9 A)9
B) 8 B) 8
Gy 7 C)7

D)6

D)6
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128) If ‘North-East’ is called West, ‘South-East’ is 128) xfy ST F A g T 2, R #

L L y =44 EFT
called North, ‘South-West' is called East and ST YT QT 2, ‘aferor-afipy 'Qzﬁcﬁmm 8 o
North-West' is called South, then South will be ST A af I d a Eﬁoq__,T

called as ST
A) East A) T:f ‘.

B) North-East B) st ’% )
C) South-West C) afRrafr

D) South D) aferer N

PR

129) Which of the answer figures will complete the 129) =t= T IR i TweAT i & &t T sy i
figural series given in the problem figures? Ft @ B T FE?

ANSWER FIGURES m mﬁ W Wﬁ

O? UL //Y)?(/ 0

PROBLEM FIGURES

gy

A B C D
A) A a% A B € D
B)B -
c)C o
DD D)D

———

130) If today is Saturday, then what day of the 130) af% st e &, 1 57 i 3 e wvere 7 -

Week will it be after 57 days? a1 fa g
A) Sunday A) TFITR
B) Tuesday B) HIEATX
C) Wednesday K T
D) 4T

D) Friday
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Section 7 - Reasoning Ability

131) Tfea, &
& o Y F W F

ﬁﬂﬁﬁr{aﬁqmﬂﬁ?ﬁm
forey e i wE 1 A T

%aﬁwaﬁgﬁmﬂa@%’\ﬂﬁﬁ@rmﬁmq
%lﬁaﬂaﬁrrrﬁa:a%mm%sﬁ—(ﬁg:raﬁ-{a@mﬁ

Rohan and Rani have 4 students between them i;;graﬁﬁ il sraeT-aeel L 8, ar

and Rohan and Rohit have 5 students between
them. Rani is 20th from the beginning. If Rohit and

131) Rohit, Rohan and Rani are the three friends
standing in a queue to pay their fees in the
administrative office. Rohit stands 9th from the

beginning of the queue. Rani is 14th from the end.

AT T 153 TT T I &7

Rani swap their places, then who will be 15th from

the beginning? A) THT

A) Rani B) Afad

B) Rohit C) e

C) Rohan D)mm(agmawmmé’rﬂ%smwﬁﬁa
T &)

D) Anonymous student

132) A box of 100 matchsticks is taken. Using two 132) 100 Fifergt arelt wF AT # Rt T 2
matchsticks as a side length, a cube is made with T&TT TS ¥ =9 & < AT T dferat ST FH
matchsticks. How many matchsticks will be left in e 5 AT & v a AT s ) s 7 Rt

the box? rifere iy fiferat a2
A) 38 A) 38
B) 24 B) 24
C)88 C) 88
D) 76 D) 76

133) Pointing to a photograph Raman says, "The 133) T# T&IT HI AT AT FA U AT ¥ Tl
man in the photograph is my sister's daughter's "TER # fREw arar 2w T8 @7 it T8 F a7 .gr'
maternal grandfather". How is Raman's son related T# & &2 %1, e ¥ @ amer wou & 7T Regar 32
to the man in the photograph? '

A) Son A) T
B) Grandson B) T
C) Father C) firar

D) Nephew D) i
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134) In each of the option, a set js giye, Select the 134) sreres fRyapery T Fe far T §1 W &2 A wmw
set that is different from the others, R, S o wft & & forsr 20
A) (X, XX) A) (X, XX)
B) (XII, XXIV) B) (XII, XXIV)
6) (M2 C) (X1, XXIl)
D) (VIII, XV1) '

D) (ViI, Xv1)

135)ﬁqwq4ﬁﬁ%aggﬁaﬁsﬁ%ﬁm@rw

p? ﬁ@w%m‘ﬁﬁmmmmé?
A e 1
n
1 2 3 4 | 2 3 4
A (1,2, 3) A) (1,2, 3)
B) (1,2, 4) B) (1,2, 4)
C) (1,3, 4) C) (1, 3, 4)
} D) (2, 3, 4) D) (2, 3, 4)

136) Identify the figure that completes the visual 136) T WA W G By qredt AFRT Hfit
series.

A) 1
B) 2 B) 2
)3 C)3
B4 D) 4
Pags W oras —

’3’;;' —
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" 137)Wmaﬁ« P IR T AT oy
qEely |Tged SET F ATET A,

137) Select one of the following four options tha
will make the second pair analogous to the first EGA SET &

pair.
Toff g o< ?
Tailor : Needle :: Plumber : ? A) FHST
A) Wood B) qmT
B) Wrench C) e«
C) Taps D) &<t
D) Table

138) A dice is taken. Numbers from 1 to 6 are 138) U TraT foram 147 &1 1 & 6 TF &T HEATE I8
written on its faces. The faces with numbers 1 and Wert T¢ Rrdt 15 §1 @@ar 1 3T 4 F FHoTF TH-ZAL &
4 are adjacent to each other. Number 6 is on the @fSrFe & H&aT 3 ATET GeAF TEAT 6 AT Hleh &
face opposite to the face with number 3. Number 2 faadia # g1 €§@4T 2, €47 4 T % & [QAq4d HeAh
is not on the face opposite to face with number ¥ 7 1 TAH & HIA-AT HEAT-SIST AI=HS FeAshi I 57

4. Which of these pairs of numbers are on adjacent

faces?

A) 1and 2 A) 13T 2
B) 6 and 3 B) 6 3T 3
C)4and5 C)43x5
D)3 and 2 D) 3=k 2

139) Which number replaces the question mark (?) 139) o & T ST F T e (?) #r sfreaR

in the series given below? FOF 1ol FeAT e fi0
23, 28, 38, 7,62, 70 23,28, 38, 2, 62. 70
A) 48 A) 48
B) 49 B) 49
C) 50 C) 50

D) 51 o
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140) A figure is given on the left with 3 pattern. 140) arff 3R T de+f ¥ wror v sty &1 TE €

Observe and find which of the three images on £y 2 s Farew fis 2t sire 3 i Fort

the right looks similar to the right half of this % % 5 fee 3 2Tt st faredr ¥ apsrr foerTs T
pattern? 87

(Al T 11 = c
I‘@ 1 =R | &

A S

A) 1 A) 1
B) 2 B) 2
C)3

D) Both 1 and 2 o

D) 1 3 2 At

141) Identify the figure that completes the visual 141) 397 sf@eT & QT FIA ATt sFfa T Tg=
series. fifor)

o s oty B T e B A e i Ny 9 3 e 267 Ty o
y Jioks 5 A ;
w5 : . :
-—. ¢ i : l )

) £ . * :

) 1% ‘ %

2 L Loy « 2k %4 1
I 5 v o 3 r ¢ =

¥ i « . .
" 1oy L ’ 3
ko ¢ IETay Gk Y S N SR A S ¥

e ts
) 2
‘_-,i [0
]
{ 45 b
R ] | ]
1 o \
)

A) 1
A) 1 B) 2
B) 2 C)3

C)3 D) 4
D) 4
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eyt 7 & TE < AT, S
142) Select o i |
Ne of the following four options that 142) qﬁﬁaﬁ’sﬁ%ﬁ o

will
make the secong Pair analogous to the first iﬂf' Fa

pair.

: . 7
Join : Break :: Marriage : 7 NERLE IEALES fare
A) Engagement A) TTE
B) Birth B) I
C) Divorce C) a1
D) Death D) 74

143)r|:i>r31"1'{‘€ﬁ'r‘11?'ﬁ'800"«:ﬁ'.iFQT‘FTﬁ-(—'n—GFT(ﬁzm’ﬁ

et % afy gy A 10 1 9F
course of 800 m. If their speeds are in the ratio 10 ft T S gl Qﬁ-‘,ﬁ e
10 : 9, the number of times, the winner passes the arg"m'ﬁ%, ar fasar iﬂfl CICEIRIIY fi

143) Rani and Sonali run a 10 km race on a round

other is £

A) once A) TH 91X
B) twice B) &r X
C) thrice C)fmar
D) never DECIEE

144) Three out of the given four codes are similar. 144) 2T 7T =< e & & €7 wF i a8 & q6qW

Find the odd one out. 2 *iX o faww 31 9w faww wie & g
A) RED7% A) RED7%

B) YELLOW6& B) YELLOW6&

C) PINK4# C) PINK4#

D) GREEN5* D) GREENS5*

Scanned with CamScanner



http://www.prepp.in/

O i .
w-—v%

11A

145) Mr. Baja\

j, Mr. Dega;
an W, Chopr esai, Mr. Khan, mr. Parmar 145 fiy Famw, ., ¥arE, @ =@m, 7 oW e
s ey ’ inas storey building each of . <zt uw 5 Wi TATCT T ST Aot
numbered as fioqy :Orss e Jottom-most floor is T §1 7 & A A e 71 A 1 F w9 F it
* Above flogy 1 ; .
and s0 on upto flge, 5. Mr 1 is the floor 2 T T &, e 1 F I Y Al 2 ol Tt W @

s floor ﬁwmﬁ%ﬁﬁﬁ.wzﬁﬁﬁ%aﬁﬁﬁﬂﬁ@
betweenMr Kh

. h : ﬁ.msﬁtﬁ.w%ﬁﬁﬂ‘f%me‘rﬁﬁﬁw
ME. Choprate o a'\r/\I lives 'MMmediately apoye q ) A m iy =T ¥ EF T TTel Wi &
by © M- Chopra Jives o floor &% %1 . vy forer wiforer & T &, Iu wear

A) 4

B)3 A) 4

C)2 B) 3

o p

SATET {1 g
taller than Anang A I g A TR, T Y S o e 1
Dolly is shorter than Bharat. The Comparison is wteft £ $ATE R A 5y 81 TE ToT ot Tt iy
done among five friends. If the shortest is the #t ST Bl AR Ty ST AT g TqT § s
thinnest and the weight goes on Increasing with the $ers % AT o F af At g, @ T qa9 ey
height, then who is the 2nd fattest person? IRE |
A) Anand A) g
B) Dolly B) =t+ft
C) Bharat C) waa
D) Farah D) g

147) Which number replaces the question mark (?)
in the following number series?

147) A% 2 78 e v e (7)o v

F AT T F-y 2
1,3, 26, 649, ? 1,3, 26, 649, ?
A) 31790 A) 31790
B) 31800 B) 31800
C) 31801 C) 31801
D) 31812 D) 31812

Page 43 of 48

Scanned with CamScanner


http://www.prepp.in/

T—'

11A

148) Select one of the following four options that

will make the second pair analogous to the first
pair.

103986 : 689301 :: 955492 -
A) 763990

B) 296784
C) 294569
D) 983457

149) Sonal bought 10 bowls and 20 plates for 2
580. If the price of each plate is ¥ 5 more than the
bowl, then the price of one plate is

A) % 36
B) ¥ 18
C) % 21
D)% 9

frmrferferd AT
ety el AT T

7
103986 : 689301 :: 965492 .

A) 763990
B) 296784
C) 294569
D) 983457

149)%%%5801?10@&&%31“!‘(20’“%
aﬁﬁmﬂﬁmmﬁﬁﬁmm@ﬁﬁﬁm@is
arfor &, < At 1 T

A) % 36

B) 18

C)Z 21

D)% 9

150) Eight identical cubes are taken. Each of them
is coloured with Red colour on a pair of opposite
faces, Green colour on a pair of opposite faces and
Blue colour on remaining two faces. The eight
cubes are joined together to form a larger cube. At

most how many different colours could be there on
a face of large cube?

A) 1

B) 2

C)3

D) 4

150) 3 0= 99 forw oo 81 398 ¥ 3w fAada
AR & T SIS Al ATl T1 &, AT werst & U e
AT L AT F ST AT ST Ferehi 1 Ao 17 F TI7 ST 2
TF a8 79 H AFQ F B o ar wwt v uw A
SITST ST &1 93 57 it ST 3 U erahs v -
SATRT {3 SeT-3ret 4 21 Ty 32

A) 1
B) 2
C)3
D) 4
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